1951 CROP STATISTICS

(Field Crops)

	(Fleid Crops)	
Alfalfa	664 cars by rail 15 tons per car @ \$36.50 25,401 carloads @ \$547.50	24,737 cars by truck VALUE \$13,906,547.00
Alfalfa Meal	1,602 cars by rail 30 tons per car @ \$64.00 1,815 carloads @ \$1,920.00	213 cars by truck VALUE \$3,484,800.00
Barley	121 cars by rail 43 tons per car @ \$3.50 per 1,860 carloads @ \$3,010.00	1.739 cars by truck
Wheat	350 cars by rail 47 tons per car @ \$3.75 per 674 carloads @ \$3,525.00	324 cars by truck cwt. VALUE \$2,375,850.00
Milo Maize	32 cars by rail 47 tons per car @ \$3.40 per 160 carloads @ \$3,196.00	128 cars by truck cwt. VALUE \$511,360.00
Flax S _t raw	No cars by rail 12 tons per car @ \$12.75 per 1,887 carloads @ \$153.00	1,887 cars by truck r ton VALUE \$288,711.00
Flax Fiber	350 cars by rail 25 tons per car @ \$60.05 350 carloads @ \$1,501.00	no cars by truck VALUE \$525,600.00
Screenings - Seed	17 cars by rail 33 tons per car @ \$40.00 48 carloads @ \$1,320.00	31 cars by truck VALUE \$63,360.00
Sugar Beets	12,516 cars by rail 40 tons per car @ \$14.75 14,266 carloads @ \$590.00	1,750 cars by truck VALUE \$8,416,940.00
Sugar Beet By-Products	28,507 tons	VALUE \$1,460,080.00
(Pulp)	15,990 tons @ \$60.00	VALUE \$959,400.00
(Molasses)	12,517 tons @ \$40.00	VALUE \$500,680.00
Sugar	61,393,300 lbs. @ 8½¢	VALUE \$4,911,464.00
Flax Seed	578 cars by rail 43 tons per car @ \$4.90 per b 908 carloads @ \$7500.92	330 cars by truck ou.(35.6.bu. per ton) VALUE \$6,810,835.00
Shive (Flax)	102 cars	VALUE \$6,120.00
Cotton	31,698 Bales (500# ea.)@ 40¢ per	1b. VALUE \$6,339,600.00
Cotton Seed	9,509 Tons @ \$72.00 per ton	VALUE \$684,648.00 ·

Grain Hay no cars by rail 13 tons per car @ \$23.00 363 carloads @ \$299.00		/ truck
		,537.00
Straw	no cars by rail 873 cars by 13 tons per car@ \$15.00	r truck
	873 carloads @ \$195.00 VALUE \$170	,235.00
Castor Beans	39 cars by rail no cars by	truck
	40 tons per car @ 12¢ 39 carloads @ \$9,600.00 VALUE \$374.	,400.00
	(Fruit and Nuts)	
Grapefruit	70 cars by rail 296 cars by	truck
246	70 cars by rail 296 cars by 462 boxes per car @ \$1,048.74 (\$2.27 p 366 carloads @ \$1,048.74 VALUE \$383.	838.84
Oranges	10 cars by rail 88 cars by	truck
	462 boxes per car @ \$4.90 98 carloads @ \$2,263.80 VALUE \$221,	852.00
Tangerines	no cars by rail 40 cars by	truck
	1,000 boxes per car @ 2/3 @ \$2.53 1/3 @ \$3.00 40 carloads @ VALUE \$108.	27.0.00
d	A CONTRACT OF A SHALL CONTRACT.	**************************************
Grapes	89 cars by rail 3 cars by t 900 boxes per car @ \$3.28	2
2	92 carloads @ \$2,952.00 VALUE \$271,	950
Honey	2,24+,450 lbs. @ \$.09\frac{1}{2} VALUE \$213.	santa de la composición del composición de la co
Dates	335,250 lbs. @ 15¢ VALUE \$50,2	outsite secondor.
Pecans	22,000 lbs. @ 50¢ VALUE \$11,0	
Lemons	no cars by rail 14 cars by 462 boxes per car @ \$6.75	truck
	14 carloads @ \$3118.00 VALUE \$43,6	52.00
	(Vegetables)	
Lettuce	10,599 cars by rail 3,134 cars 320 crates per car @ \$2.50	by truck
	13,733 carloads @ \$800.00 VALUE \$10,9	86,400.00
Carrots	5,249 cars by rail 1,557 cars	by truck
348 crates per car @ \$2. 6,806 carloads @ \$991.80	6,806 carloads @ \$991.80 VALUE \$6,7	50,190.00
Carrots - Topped	1,150 cars by rail 63 cars by	truck
	600 crates per car @ \$1.35 1,213 carloads @ \$810.00 VALUE \$982	96
Cabbage	607 cars by rail 245 cars by	7 truck
	320 crates per car @ \$3.00 852 carloads @ \$960.00 VALUE \$817	,920.00 ·

Peas		cars by rail crates per car @ \$3.25	20 cars by truck
	carloads @ \$2,275.00	VALUE \$234,325.00	
Onions	Onions 237 cars by rail 600 crates per car @ \$2.7 312 carloads @ \$1,650.00		85 cars by truck
9			VALUE \$514,800.00
Mixed Vegetables		cars by rail	27 cars by truck
812	600 crates per car @ \$2.50 114 carloads @ \$1,500.00	carloads @ \$1,500.00	VALUE \$171,000.00
Broccoli	114	cars by rail	4 cars by truck
	400 crates per car @ \$4.9 118 carloads @ \$1,800.00	carloads @ \$1,800.00	VALUE \$212,400.00
Romaine-		cars by rail	137 cars by truck
	137	crates per car @ \$2.00 carloads @ \$640.00	VALUE \$87,680.00
Cabbage (Bulk)	612	tons @ \$20.00	VALUE \$12,240.00
Carrots (Cull)	9,437	tons @ \$2.50	VALUE \$23,593.00
(Truck Crops)			
Cantaloupes	290	cars by rail crates per car @ \$4.75 carloads @ \$1,377.50	1185 cars by truck
			VALUE \$5,135,320.00
Mixed Melons		cars by rail	36 cars by truck
	83	crates per car @ \$4.00 carloads @ \$1,200.00	VALUE \$99,600.00
Tomatoes	85 cars by rail 675 crates per car @ \$2.25 1,415 carloads @ \$1,518.75	1,330 cars by truck	
		carloads @ \$1,518.75	VALUE \$2,149,031.00
Tomatoes (Cannery)	15,737	tons @ \$30.00	VALUE \$472,110.00
Squash	no cars by rail 1,000 crates per car @ \$2.00 197 carloads @ \$2,000.00	197 cars by truck	
		carloads @ \$2,000.00	VALUE \$394,000.00
Cucumbers no cars by rai		61 cars by truck	
	61	crates per car @ \$3.00 carloads @ \$3,000.00	VALUE \$183,000.00
Asparagus	12,547 650	47 crates by rail 50 crates per car @ Spring	-\$5.78
	19	Carloads	- 4.58 VALUE \$64,314.00
Watermelons		cars by rail tons per car @ \$57.50 carloads @ \$747.50	640 cars by truck
	1,343		VALUE \$1,003,892.00

Green Corn	600	cars by rail crates per car @ \$2.90 carloads @ \$1,740.00		rs by truck \$139,200.00
	(A	nimal Industries)		
Cattle	145 28 6,228	cars by rail head per car-Av.800# (scarloads @ \$2,520.00	6,083 \$90.00 VALUE	cars by truck per head gain in \$15,694,560.00
Sheep	150 1,146	cars by rail head per car @ \$34.00 per carloads @ \$5,100.00	1,144 per hea VALUE	cars by truck d,140,233-50% ga \$4,767,922.00
Wool	16	cars by rail tons per car @ 90¢ per carloads @ \$28,800.00	lb.	by truck \$518,400.00
Hogs	150	cars by rail (14,986 h head per car @ \$39.00 carloads @ \$5,850.00		ars by truck \$585,000.00
Horses	11/15	head @ \$150.00	VALUE	\$66,300.00
Dairy Cattle	12,108	head @ \$175.00	VALUE	\$2,118,900.00
Market Milk	1,702,547	gallons (14,471,650#)	VALUE	\$1,342,140.00
Dairy Products	503,857	lbs.	VALUE	\$200,952.00
Dairy Products	314,660	gallons (2,674,610 lbs.)VALUE	\$289,607.00
Pastureage	180,233	head 40,000 cattle @ 140,233 sheep @	\$ 3.00	\$1,020,699.00
Poultry	16,248	dozen	VALUE	\$199,537.00
Turkeys	1,100	head @ \$5.25	VALUE	\$5,775.00
Bees	19,000	colonies @ \$12.00	VALUE	\$228,000.00
Bee Wax	25,400	lbs. @ 42¢	VALUE	\$10,668.00

9,624 cases @ \$18.30 VALUE \$ 176,119.00

Eggs

(Miscellaneous Items)

Fertilizer	1,026 cars 25 tons per car @ \$3.50	VALUE \$89,775.00
Mineral Product		VALUE \$7,103,730.00
Dry Ice	8,150 tons	VALUE \$260,800.00
Ice	293,000 tons @ \$4.35	VALUE \$1,274,550.00
	(Seed and Cut Flowers)	
Cut Flowers		VALUE \$36,000.00
Flower Seed	2,100 lbs.	VALUE \$4,000.00
Lettuce Seed	9,400 lbs.	VALUE \$10,000.00
Onion Seed	41,000 lbs.	VALUE \$41,000.00
Alfalfa Seed	3,000,000 lbs. @ 25¢	VALUE \$750,000.00
Clover Seed	300,000 lbs.	VALUE \$30,000.00
Sesbania Seed	100,000 lbs.	VALUE \$8,000.00
Vegetable Seed	34,000 lbs.	VALUE \$15,000.00
Barley Seed	5,600,000 lbs. @ \$5.00 per cwt.	
Wheat Seed	113,890 lbs. @ \$6.00 per cwt.	VALUE \$6,833.00
Flax Seed	1,485,000 lbs. @ 15¢	VALUE \$222,750.00
Castor Bean Seed	9,122,951 lbs. @ 12¢	VALUE \$109,475.00
Soil Improvement	payments 1951	VALUE \$241.000.00

RECAPITULATION

Field Crops	\$51,126,223.00
Fruit and Nuts	1,303,746.00
Sugar	4,911,464.00
Vegetables	20,793,078.00
Truck Crops	9,640,467.00
Animal Industries	27,224,579,00
Misc. Items	8,728,855.00
Seed and Cut Flowers	1,513,058.00
Soil Improvement Payments	241,000.00
GRAND TOTAL.	\$125.482.470.00